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function make polygons(m,

polygons = [] 1 N . ,
var pl = Math.PI polygons.pus ([p r P4, p3])
var r = 0.4 polygons.push([p2, p3, p4])
for (var i = 0; 1 < m; i++){ \ }

var thl = 2 *# pi * i / m

var th2 = 2 * pi * ((i + 1) $m) / m return polygons ]?1 ]?2

for (var j = 0; J < n; J++){ E
var phil = 2 * pi * §j / n :
var phi2 = 2 * pi * ((j + 1) $ n) / n : ]? 294
var x1 = r * Math.cos(phil) + 1 :
var yl = r * Math.sin(phil) :
var x2 = r * Math.cos(phi2) + 1 : Ay F_j—\y@@,%ﬁcal—‘lt@ E
var y2 = r * Math.sin(phi2) ;
var xx11 = x1 * Math.cos(thl) E ZyEDED [CEErE &5
var zzll = x1 * Math.sin(thl) :
var xx12 = x1 * Math.cos(th2) :
var zz1l2 = x1 * Math.sin(th2) : ////’_;:\\\
var xx21 = x2 * Math.cos(thl) : r/4;
var zz21l = x2 * Math.sin(thl) : >
var xx22 = x2 * Math.cos(th2) : 0 1 X
var zz22 = x2 * Math.sin(th2)
var pl = [xx11l, yl1, zzll] ‘Z
var p2 = [xx12, yl1, zzl1l2]
var p3 = [xx21, y2, zz21]

var pé4 = [xx22, y2, z2z22]
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function rot yz(polygons) {

var rr = function(pt){
var th = 0.5
var X = pt[0]
var y = pt[1l]
var z = pt[2]
var ¢ = Math.cos(th)
var s = Math.sin(th)
var yy =y * ¢c - z * s
var zz =y * s + z * C
return [X, YV, 2Z]
}
var pp = []
for (var 1 = 0; 1 < polygons.
var p = polygons|[1i]
var ptl = p[0]
var pt2 = p[1l]
var pt3 = p[2]
pp.push([rr(ptl), rr(pt2),
}

return pp
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function sort p(polygons) {
for (var 1 = 0; 1 < polygons.length - 1; 1++){
var mi = 1
var mv = center z(polygons[i])
for (var j = i + 1; j < polygons.length; j++){
1f (mv > center z(polygons[J])){ =ceccccmmmmmmmmmm i e eeeeaaa
mi = j

mv = center z(polygons[j]) function center z(polygon){

var pl = polygon[O0]
var p2 = polygon[1l]
var p3 = polygon[2]
var z1 = pl[2]
var z2 = p2[2]
var z3 = p3[2]
return (z1 + z2 + z3) / 3

}
}
var tmp = polygons[mi ]
polygons[mi] = polygons[i]
polygons[i] = tmp
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function draw tr(ptl, pt2, pt3){ <AEHZBL Lic=@FzHB T 5
draw triangle w(ptl, pt2, pt3)
draw line(ptl, pt2) . . oo R [ —
draw line(pt2, pt3) Y/ ~ L/fc_'fé, AN /T\{(LTEE@-g_%.
draw line(pt3, ptl)

}

function pt3 2(pt)/{ SRS D THHzZREZEZETT, (0, 0)-(1,
var x = pt[0] NDT74y NSE2ODEZZETET S
var v = pt[1l]
return [x / 4 + 0.5, vy / 4 + 0.5]

}

function draw polygons(polygons){ < RIRIC=AEDIICDOWTHET 5.
for (var 1 = 0; 1 < polygons.length; i++)/{
var p = polygons[i]
var ptl = p[0]
var pt2 = p[1l]
var pt3 = p[2]
draw tr(pt3 2(ptl), pt3 2(pt2), pt3 2(pt3))
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var polygons = rot yz(make polygons (30,

sort p(polygons)
draw polygons (polygons)

\
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30))
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function make_points(n){

var pts = [] CRIL el
for (var i = 0; i < n; i++){ . T =
var x = Math.random() 2,;;: ~ey
var y = Math.random() ﬁf“~ 7"t'$: .
pts.push([x, yl) .- . ) g
) ', ) -
" " .- - . (L
return pts o I )
1 - " et et
-"- -..‘. . ..‘: -‘:
function draw_points(1lst){ .'*‘: ,. t :_':-_1' o
dx = 0.005 Tt e LT
dy = 0.005 e i
for (var i = 0; i < lst.length; i++){ P L AL,
var x = lst[i] [@] o M ..,-;\.
var y = Ust[i][1] I L AT

draw_rect([x-dx, y-dyl,
¥

draw_points(make_points(1000))

V& INTTO00ME D &= 7= F A

[x + dx, y + dy]) #* = L*rl.
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function make_edge_list(1lst){
function sqr(x){ return x * x }
function dist2(p1l, p2){
var [x1, yl] = pl
var [x2, y2] = p2
return sqr(x1l - x2) + sqr(yl - y2)

var elist = []
for (var i = 0; i < lst.length; i++){

var pl = lst[il]
for (var j =i + 1; j < lst.length; j++){
var p2 = lst[j]

var d = dist2(pl, p2)

if (d < 0.04){
elist.push([d, i, jI)

}

}
}

return elist
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function sort_edge_list(elist){

if (elist.length <= 1) return elist

var key = elist[0] [0]

var low = []

var eq = []

var high = []

for (var i = 0; i < elist.length; i++){
if (elist[i][@] < key) low.push(elist[i])
else if (elist[il[@] > key) high.push(elist[i])
else eqg.push(elist[i])

5

return sort_edge_list(low).concat(eq.concat(sort_edge_list(high)))
5

a = make_edge_list(make_points(1000))

a = sort_edge_list(a)

puts(a length)
puts(alo])

puts(a[999]) \\\\\\Sk
51675

5.925218054709946e-7,386,638
0.00068/1094447426732,406,757
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function make MST(slist, n){

var dad = []

for (var i = 0; i < n; i++){
dad[i] = -1

}

function gdad(i){
while (dad[i] !'= -1){
i = dad[il
}

return 1
¥
var kK = 0;
var count = 0
var res = []
while (true){
var [dist, ix, iy] = slist[k]
if (gdad(ix) !'= gdad(iy)){
dad[gdad(ix)] = gdad(iy)
res.push([ix, 1iy])

count += 1
}
if (count >= n - 1) break
k += 1

}

return res

1000

a
puts(a.length)
puts(al@])

puts(aln - 1])

n
pts = make_points(n)

a = make_edge_list(pts)
sort_edge_ list(a)

mst = make MST(a, n)

for (var i = 0;
puts(mst[i])

i< 103 i++)

25,522

39,969

234,581
236,703
229,642
117,938
334,699
817,974
802,887
660,966
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function draw_edges(mst, pts){
for (var i = 0; i < mst.length; i++){
var [i1, 12] = mst[i]
var ptl = pts[il]
var pt2 = pts[i2]
draw_line(ptl, pt2)
}
}

n = 1000

pts = make_points(n)
draw_points(pts)

a = make_edge_ list(pts)
a = sort_edge_list(a)
puts(a.length)
puts(alo])

puts(aln - 1])

mst = make MST(a, n)
draw_edges(mst, pts)
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function selection sort(1lst){

var n = 1

for (1 =
var m =
var mj
for (3

st.length

0; i< n; 1i++){
lst[1i]

= 1

=1+ 1; j < n;

if (m > 1st[J]){

m
m

}
}

var tmp
lst[mj]
1st[1]

= lst[]]
J =3

= 1lst[mj]
= 1lst[1]
= tmp

J++) {

=Y BEHERE (2) OO

function time measurement(n){

var 1lst = []

for (var i = 0; i < n; i++){
lst.push(Math.random())

}

var tl = new Date()
selection sort(lst)
var t2 = new Date()
return t2 - tl
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function measurement () {

var res = [] -
for (var n = 0; n < 2000; n += 10){ &
res.push([n, time measurement(n)]) Eg
} (@9
for (var i = 0; i < res.length; i++){

var data = res[1i]
var x = data[0] / 2000

Ty
var y = data[l] / 300 s
puts(x + " " + y) Eﬁ
draw line([x, 01, [X, V1) e
}
}
measurement ()

0 2000
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function merge(lstl, 1lst2){

var lst = []
while (true){
if (lstl.length == 0) return lst.concat(lst2)
else 1f (lst2.length == 0) return lst.concat(lstl)

if (1stl[0] < 1st2[0]) 1lst.push(lstl.shift())
else lst.push(lst2.shift())

}

function msort(lst){
var n = lst.length
if (n < 2) return lst
else {
var n2 = Math.floor(n / 2)
return merge(
msort(lst.slice(0, n2)), msort(lst.slice(n2, n)))
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function time measurement(n){

var lst = []
for (var 1 = 0; 1 < n; 1i++){

lst.push(Math.random( ) )-=====seeceeeccceccccemeceee e e e e n i mmaas
} 'function measurement () {

var tl = new Date() var res = []
msort(lst) for (Var n = 0; n < 2000; n += 10){
var t2 = new Date() res.push([n, time measurement(n)])

}
for (var i = 0; i < res.length; i++){
var data = res[1i]
var x = data[0] / 2000
var y = data[l] / 300
puts(x + " " + y)
draw line([x, 0], [x, Y1)

return t2 - tl

}

rmeasurement ()
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function gsort(1lst){

if (lst.length <= 1) return 1lst — ~ A ~
var key = 196107 1 [BlH Dgsortld = > F L7k
var 1t = [] AllDN) — I\fdtd)'f“i%\,\b‘\, 2
var eq = []
var gt = [] | | o] DgsortiFBilcy — k&
for (var 1 = 0; 1 < lst.length; 1++){ " X
var ele = lst[i] N71cHia D TIEE ICKED
if (ele < key) lt.push(ele)
else if (ele > key) gt.push(ele) 7'_')\7'_')\%_
else eq.push(ele)
}
return gsort(lt).concat(eq).concat(gsort(gt))
}
var m = []

for (var 1 = 0; 1 < 2000; i++)
m.push(Math.random())

tl = new Date() . .
m = gsort(m) timel =4 ms; time2 = 150 ms
t2 = new Date()

m = gsort(m)

t3 = new Date()

puts("timel = " + (t2 - t1) + " ms; " +

"time2 = " + (t3 - t2) + " ms")
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function gsort(lst){
n = lst.length

if (n <= 1) return 1lst N — o .
var key = lst[Math.floor(Math.random() * n)] :\:_;éEEEI:R-a_%) t % 7/9

e o 1] LICBIRT 2&. EALEE
var gt =[] | FEECEET 2T A v Y

for (var 1 = 0; 1 < lst.length; 1++){

var ele = lst[i] Y—r7ZILTV X LZES

1if (ele < key) lt.push(ele)

else 1if (ele > key) gt.push(ele) Z_ tb\\—?%%}
else eqg.push(ele)
}
return gsort(lt).concat(eq).concat(gsort(gt))
}
var m = []

for (var 1 = 0; 1 < 2000; 1++)
m.push (Math.random()) . _ Coer _
£l = new Date() timel =5 ms; time2 = 3 ms
m = gsort(m)
t2 = new Date()
m = gsort(m)
t3 = new Date()
puts("timel = " + (t2 - tl) + " ms; " +
"time2 = " + (t3 - t2) + " ms")
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7L X Ly RS TR E] FIIRITRE ZHEFE=E
ELIYavy—+hk n(n - 1)/2 n(n- 1)/2 E
INTILY — K n(n- 1)/2 n(n - 1)/2 EH
Za A nin-1)/2 |c(n+1)logn|n &iLogn)
E—7Y—h n log n n log n log n
N—2Y—h n log n n log n n




